normalized X?

chiz
Entries 3570
= - Mean 1.158
10 : Std Dev 0.6617
chiz
-2l .. ... Entries 3568
10 Mean 1.156
Std Dev 0.6514
[ chi2
10 °F Entries 3568
F Mean 1.156
E Std Dev 06514 |
1074F
-5
10

I L
09¥0—2"4 6 8 10 12 14 16 18 20 095o 0102030405
X? Prob XZ)
5 _ s
< F ' g F
c 3 : 4F-
Soagfenees B e FRR Ao E
folll: ' o 3k
v o - E
1.6F- E
Ef : : : : o 2
1.4 | === DQM_v0001_R000000001__Global__cmssw1000time__RECO
[ || === pQm_v0001_R000000001__ Global__mkFitNewOLD1000time__|
1.2f|| == DoM_v0001_R000000001__Global__mkFitNewBinsDC1000tim
F TWIY R BRI —E-
1 q MH% FAALENIGT E
T }+ ++ Y —2F-
X R RS DR PR AR PPE P PEEPE ERPER -3f-
O e 4
o+ y i y 9 +BF '
3 i 3 i 8 i
x |: “ |: ||| i © 1
1 o - !
] o R |
095372 01 2 3 932 1 0 2 3
n TP n (PCA to beamline)
A 5: A n
2 4_55— ------------------------------------ 2 1.8:—'
S LB < 1.6f-
\ 4: v E
E 1.4~
E 1.2F
é £-
E 0.8F-
E 0.6F
0.4F
0.2F
° i o O
5 d 5
14 a a4
0.5
10 1 10 1(l)2 (0 100'3 1072 107t
&T AR(track, jet?
S
A
-
=
:
o
el
\"
2
3
'

[ normalized x? probability |

ThiZ_prob
0.07 =] Entries 3570
Mean 0.4369
Std Dev 03137

0.06 PR
Entries 3568
Mean 04377
0.05 * |std Dev 0.3137

hiz_prob
0.04 - [Entries 3568
: | mean 04377

+ |std Dev

0.3137

il
il
[

HH! HHHHHH \H HHH\”.
0809 1

10%




	Contents
	Page 1


